

# Θέμα 29

A1.  $f(x) = x^6 - 2x^3 + 2, x \in \mathbb{R}$

$f'(x) = 6x^5 - 6x^2$

$f'(x) = 0 \Leftrightarrow 6x^2(x^3 - 1) = 0 \Leftrightarrow x = 0 \text{ ή } x = 1$

x	$-\infty$	0	1	$+\infty$
f'		-	-	+
f		↘	↘	↗

o.e.  $f(1) = 1$

A2.  $g(x) = -x^4 + 2x^2, x \in \mathbb{R}$

$g'(x) = -4x^3 + 4x$

$g'(x) = 0 \Leftrightarrow -4x(x^2 - 1) = 0 \Leftrightarrow x = 0 \text{ ή } x = \pm 1$

x	$-\infty$	-1	0	1	$+\infty$
-4x'		+	+	-	-
x <sup>2</sup> -1		+	0	-	0
g'		+	0	-	0
g		↗	↘	↗	↘

T.U. T.F. T.U.

$f(\Delta_1) = (\lim_{x \rightarrow -\infty} g(x), g(-1)) = (-\infty, 1)$

$f(\Delta_2) = [g(0), g(-1)] = [0, 1]$

$f(\Delta_3) = (g(0), g(1)) = (0, 1)$

$f(\Delta_4) = (\lim_{x \rightarrow +\infty} g(x), g(1)) = (-\infty, 1)$

$g(\mathbb{R}) = (-\infty, 1]$

Άρα  $g$  ο.π.  $\mathbb{R}$   $\perp$

B1.  $x^6 + x^4 - 2x^3 - 2x^2 + 2 = 0 \Leftrightarrow (x^6 - 2x^3 + 2) - (-x^4 + 2x^2) = 0 \Leftrightarrow f(x) = g(x)$   
 Έχουμε  $f(x) \geq 1$  και  $g(x) \leq 1$  Άρα  $x = 1$

B2.  $f(r) = \eta\mu r$

Έστω ότι υπάρχει αριθμός  $r$

$\exists \epsilon$  που  $\eta\mu r \leq 1$

$f(r) \geq 1 \rightarrow f(r) = 1 \Rightarrow r = 1$  τότε  $\eta\mu 1 = 1$  Άρα  $\eta\mu 1 = 1$

B3. Ε<sub>p</sub>:  $y - f(1) = f'(1)(x-1) \Leftrightarrow y - 1 = 0 \Leftrightarrow y = 1$

Ε<sub>g</sub>:  $y - g(1) = g'(1)(x-1) \Leftrightarrow y - 1 = 0 \Leftrightarrow y = 1$

Γ.  $\lim_{x \rightarrow +\infty} \frac{\eta\mu f(x)}{g(x)} = \lim_{x \rightarrow +\infty} \left( \frac{\eta\mu f(x)}{-x^4 + 2x^2} \right) \quad -1 \leq \eta\mu f(x) \leq 1 \Leftrightarrow \frac{-1}{-x^4 + 2x^2} \geq \frac{\eta\mu f(x)}{g(x)} \geq \frac{1}{-x^4 + 2x^2}$

$\lim_{x \rightarrow +\infty} \frac{-1}{-x^2(x^2+2)} = 0$  και  $\lim_{x \rightarrow +\infty} \frac{1}{-x^2(x^2-2)} = 0$

Άρα κ.π.  $\lim_{x \rightarrow +\infty} \frac{\eta\mu f(x)}{g(x)} = 0$